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QUESTION 1

Assuming EMP_ROW and NEW_HIRE have the same user-defined row data type, what is the best way to assign the
elements of NEW_HIRE to EMP_ROW? 

A. emp_row.rowid = new_hire.rowid; 

B. emp_row.all = new_hire.all; 

C. SET emp_row = new_hire; 

D. SET emp_row.* = new_hire.*; 

Correct Answer: C 

 

 

QUESTION 2

Which of the following can be done while debugging a SQL procedure with IBM Data Studio? 

A. Change the order of statements being executed. 

B. Edit the procedure and continue. 

C. Change the value of any variables used. 

D. Re-executethe current statement. 

Correct Answer: C 

 

 

QUESTION 3

Given the SQL statement shown below: 

Which privilege allows a user to execute the CREATE TRIGGER statement shown? 

A. SYSCTRL authority 

B. SELECT and UPDATE privilege on the EMPLOYEE table 
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C. SYSMAINTauthority 

D. SELECT and ALTER privilege on the EMPLOYEE table 

Correct Answer: B 

 

 

QUESTION 4

In the stored procedure below: 

What will the value of the P_ID parameter be if the procedure is invoked and a value of 2 is specified forthe
START_VALUE parameter? 

A. 1 

B. 2 

C. 3 

D. 4 

Correct Answer: C 

 

 

QUESTION 5

Which command can be used to convert literals in SQL statements to parameter markers to avoid compilation of similar
SQL statements? 

A. UPDATE DB CFG USING STMT_CONC ON 

B. UPDATE DB CFG USING LIT_PARM ON 

C. UPDATE DB CFG USING CURSOR_SHARING FORCED 

D. UPDATE DB CFG USING CURSOR_SHARING ON 
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Correct Answer: A 
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